50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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USN LY’ 18MBAFM302
Third Semester MBA Degree Examﬁ@ion, Jan./Feb. 2021
Investment Manﬁgément
Time: 3 hrs. -Max. Marks:100

Note: 1. Answer any FOQURfull questions ﬁ'am Q] No"f to 7.
2. Q.No. 8 is co sory.
3. Use of P.V. ta j les are permitted. »ﬁ%
31% 3
-
1 a Whatdoesp=+2.0 mdlcate > ¥ (03 Marks)
b. Explain the various stages of Investment Process lnﬂetall (07 Marks)

2

3

C.

a. Whatisa Fundﬁunds (FoF)?
b. What is Risk?E

C.

4»?%

On the basis of the follawmg data given below,

7~ v
8N,

5;\% 2y

&

lain the dlfferent‘typcs of systematic and unsystcmatlc risks.

» | Day | NasdaQ points Mlcrosoﬁ rate

1 904.95 ~. 597.80

2 84575~ |  570.80

3 87425 582.95

4 847:95

5 | «=849.10

6 | 835.80

7 | ¥ 816.75

8 84355 |56

N a 1 56095
10 B 597.40

PN
ﬁ'ﬁ\y

leulate i) Beta (B) and ii) Alpha (o).

(10 Marks)

(03 Marks)
(07 Marks)

Stocks L & M have yielded the folln'wmg returns fﬁ&the past two years :

Calculatc :

i,

7! Years | Return% |
L M

2011 |12 | 14
2012 18 12

1) What is the c:fpc&ed return on a port follo made up of 60% of L and 40% of M?
ii) Find out. thegstandard devxatlagﬂf each stock.
ovariance and Gosefficient of correlation between stocks L and M?

1i1) What
1v) What'is

"‘“\

% ':&a“‘?

a. What is Markowitz efﬁ@wnt frontier?
b. Explain the various lev€ls of information and the forms of markets according to Efficient
Market Hypothesis (EMH)
¢. The following.3" ﬁ?ﬁ folios provnde the particulars given below, the risk free rate of interest
is 9%. With th€ help of the given data :
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the port folio I‘lSk of a port folio made up of 60% of L and 40% of M?

(10 Marks)
(03 Marks)

(07 Marks)
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a.
b.
c.
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i) Rank these port folios using Sharpe’s and Treynor S mea%%ds
ii) Compare both the indices.

Port folio | Average Annual | Standard dev1ah6‘i1 ‘Correlation co-efficient
return /% (Market & Port folio)
A 18 % & 0.8
B 14 18 0.6,
C 15 v, 08 0.9
Market 13 712 -
(10 Marks)
What is Technical Analysis? ¢, ~ g (03 Marks)
Explain the DoW theory with teie;ence to the hypotheses and various trends. (07 Marks)

Calculate the duration for Bm@" A and Bond B with 7% and 8% coupons, having a maturity
period of 4 years. The fa% value is Rs 1000/-. Both the bonds currently yield 6%. (10 Marks)

74
What is the formula usg& for Characteristic Regrgsswn Line (CRL) model? (03 Marks)
Explain the various Bond Portfolio Management Strategies. (07 Marks)
VRW & Co has.comimon shares outstandmg in the market with price earnings ratio of 15.
The annual expec?ed growth in earnings; dividends and price is 7%. The earnings per share
is Rs 2.5,the dividend payout is 60% and-the investor wants to hold the stock for 4 years.

The reqlﬁr?ckrate of return is 15%. Whﬁt would be the present value? (10 Marks)
R %,
Mentwn the formula for port fofﬁw{andard dewatlon’;&mdmg to Markowitz model.
- (03 Marks)

Explain in detail, the various types of Mutual ftmdsba on various pﬁrameters (07 Marks)
Assume you are a Portfoho Manager, baséd®on the following~details, determine the
securities that are ovetpnced and those thaka;e underpriced in terms of the SML.

Security Actual Teturn B |eo
A _©.033 1.7 40,50
PN B o ¥ 013 1.4 10.35
. C WP 026 |“L1 040
4 " W 0.12_ 11095 0.24
e T4 021 “771.05[0.28
N 014+ [070]0.18
"’Niff? index 0.3 1.00 | 0.20
» T - bills £.0.09 0 0
(10 Marks)
Mentlon ':heaf%h a for Basic Jensm s Performance Index. (03 Marks)
Explain any.4 ehart patterns in 'Iee‘ﬁmcal Analysis of Securities. (07 Marks)

The PMWhaInvestment Company manages a stock fund consisting of 4 stocks with the
followmg market values and betas : If the risk — free rate of interest is 8% and the market
return is 15%, what is the: f)ort folio’s expected return? (10 Marks)

D Stock | Market value in (Rs) | Beta
4 Bell 2,00,000 1.16
Sell 1,00,000 1.20
Grill 1,50,000 0.80
Shrill 50,000 0.50
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Assume you are an Investment Manager, you n@uiﬂe Mr. MVW, based on the following
details :

The expected return of the market is 15%, :',Quity’s beat is Ijm&risk — free rate of

CASE STUDY [Compulsory] :

interest is 8%, further the following Macrc@ mic factors were ed.
Factor t Price of risk (%) %ﬁivity Index
Inflation ' 6 e 13
Industrial Producti 2 " 0.8
Risk Premium ° 3 T 1.0
Interest rate /4 ¢ 4 % -0.9
The guidance to Mr. Héuld be in terms of %
a. Assumptions of CAP (06 Marks)
b. Return of the st ing CAPM. ’ (06 Marks)
c. Return of the % ing APT model. % (06 Marks)
d. Explanation fop the difference of retum@ on CAPM as compared to APT model.
(02 Marks)
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